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Stages of conception (scrambled)

A A man and woman 
have sexual 
intercourse. The man’s 
penis gets hard/erect 
and goes inside the 
woman’s vagina.

B The sperm travel 
through the womb to 
the fallopian tube.

C One of the sperm 
enters the egg. D The ball of cells 

attaches to the side of 
the womb.

E The woman is 
pregnant and the baby 
starts to grow in her 
womb.

F The new cell starts to 
grow into a ball of cells. G The ball of cells travel 

down the fallopian 
tube towards the 
womb.

H The man ejaculates 
and sperm leaves his 
penis and travel up the 
woman’s vagina.

I The man's sperm and 
the woman’s egg meet 
in the fallopian tube.

J The sperm and egg 
come together to form 
a new cell.
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